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- EXAMPLE 10.10  Prediction inferval

; B S (e} or 9000 steps per day. Let’s find the prediction interval
‘ : E o 5 servation pf BMI for a college-aged woman who averages 9000
ps per day. The predicted value is the same as the estimate of the aver-
age BMI that we calculated in Example 10.8 (that is, 23.7 kg/m?). Software
1-:ells us that the 95% prediction interval is 16.4 to 31.0 kg/m*. This interval
is extremely wide, covering BMI values that are classified as underweight as
well as obese. Because of the large amount of scatter about the regression line,

prediction intervals here are relatively useless.
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rger sample would better estimate the population regression line,
it would not reduce the degree of scatter about the line. This means that predic-
tion intervals for BMI, given activity level, will always be': wide. This example
clearly demonstrates that a very small P-value for the significance test for a
sero slope does not necessarily imply that we have found a strong predictive
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FIGURE 10.7 The 95% confidence limits (dashed curves) for the mean response for the

physical activity study. Example 10.7.
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